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NEW QUESTION 2710n an Ethernet segment, OSPF DROther routers from which type of adjacency with each other? A.  FullB.
2WayC. ExStartD. Exchange Answer: B NEW QUESTION 272Which statement is true about routing instances on Junos
devices? A. Routing information cannot be shared between routing instances.B.  Each routing protocol runsin a separate routing
instance.C. Junos devices support only one routing instance.D.  Each routing instance is a unique grouping of routing tables,
interfaces, and routing protocol parameters. Answer: D NEW QUESTION 273To which OSPF state does a device transaction once
it receivesaninitia hello packet? A. 2WayB. FullC. ExStartD. Exchange Answer: A NEW QUESTION 274Click the
Exhibit button. Which two statements are correct according to the output shown in the exhibit? (Choose tWo.) | waianases snow s ,.m
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A. The peering session can pass inet-vpn routes.B.  The peering session uses an altered route preference.C.  The peering
session is enabled for multihop support.D.  The peering session is enabled for multipath support. Answer: BC NEW QUESTION
275Click the Exhibit button. Referring to the exhibit, which policy would be applied to the 75.217.12.10 neighbor?
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A. Themy-statics policy would be applied.B. The my-aggregates policy would be applied.C.  The my-specifics policy would
be applied.D. The my-statics, my-aggregates, and my-specifics policies would be applied. Answer: D NEW QUESTION 276Click
the Exhibit button. Referring to the exhibit, al interswitch links are configured as trunks supporting all VLANSs. Host A sends a

frame with an unknown destination MAC address to S2. Which switches will receive this frame? @ EeaEadsazcp

- -
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Hos1 E Host F
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WiANM1  WiANI
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A. S1,S3and A4AB. SlonlyC. Sland S3onlyD. S1and $4only Answer: C NEW QUESTION 277Which table will a
Junos-based MPL S ingress router first consult to determine the next hop for BGP routes reachable through an LSP? A.  inet.1B.
mpls.0C. inet.3D. inet.0 Answer: D NEW QUESTION 278Which Layer 2 mechanism logically groups network nodes into

separate broadcast domains? A. IS ISlevelsB. OSPF areasC. VLAND.

IP subnets Answer: C NEW QUESTION 279Click

the Exhibit button. Switch 1 and Switch 2 are configured to run MSTP. However, MSTP is not working. Referring to the exhibit,

which two actions will correct the problem? (Choose two.)

meri 1 |
bridge-priority 4k;
wlan 1O00-1Z0

¥

m=ti E |
bridges—priocity Bk;
wvlilian 150-1&0

+

[sdit protocols mstpl
user@meitohz# show
configurstion-nams m=tp— ¢
revision—lewvel Zj
interfass ge-0/071;
interface ge-D/0/3;
interface ge-0/0/4;
intsrface ge-0/0/5;
metd 1 |
bridge-priority 8k;
vlan 100-120

]

mati 2 |
bridge-prierity 4k;
vian 150-160

b C——
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[edit protocals matp]
userBawitchl# ahow

K]

coanfiguration—nams matp-cegionl;

ravision—lmvel 1;
interface ge—0/0/1;
interface ge—0/0/2;
intwrface ge—0/0/3;
interface go—0/0/4;
interface ge-0/0/5;
moti 1 |
bridge-priority 4k;
vlian 100-120

]

matd & {
bridge-priority 8k;
wian 150-160

¥

=ols motp]
Z# show

[edit pra
user @S
cantigur
revision-level Z;
interface geo-0/0/1;
intertface ge-0 0-3;

—ruame matp

| Page?2/3 |


http://www.mctsbible.com/?p=561
http://www.profprojects.com/?page=upm

This page was exported from - Passl eader Microsoft MCTS Premium Exam Dumps For Free
Export date: Tue Apr 16 17:57:09 2024 / +0000 GMT

A. Configureinterface ge-0/0/2 on Switch 2B.  Correct the bridge-priority parameter to be identical on both switches.C.
Configurerevision-level 2 on Switch 1.D.  Correct the configuration-name parameter to be identical on both switches. Answer: CD
NEW QUESTION 280Y ou are asked to configure a new LSP in your network. The new L SP must take a specific path using agiven
set of routers. What must you do to accomplish thistask? A. A named path must be defined and referenced as primary for the LSP.
B. A named path must be defined and referenced as preferred for the LSP.C. A named path must be defined and given alow
priority.D. A named path must be defined and given a high priority. Answer: A Why Not Try PassLeader New Premium JNO-360 E:
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